—~ . HSS BEAM, TYPICAL, SEE
PLAN

—~7 CFMF, SEE

ARCHITECTURAL DRAWINGS

SECTION

.| ROOF
175 -0"

3/4” — ,I’_O!’

1'=2 1/2

1’—6”

1/4" THICK CAP PLATE, TYP.

Level 1

#4 U—BAR ADHESIVE
DOWELS @1270C, HIT-HY ©
200 AT (E) CONCRETE v
GRADE BEAM, HIT—HY 70
AT (E) BRICK BEARING

WALL, SEE 6/S200 FOR
BALANCE OF INFORMATION

1)_4)!

SECTION

(5)—#5 EACH WAY

159'-0"

®\ O O

HSS12x8x1/4
>
< TYP
1/4
TYP
1/4
d TYP
u \.
,l
I~
1/4
TYP
1/4
(E) BUILDING
L S Doy RooF
Ly e 175°=0"
7SST2x8x1/4 :
w0
“©
L N 1/2"x16"x1'=8" PLATE WITH
(4)-3/4" DIA. F1554 GR. 55
THROUGH BOLTS WITH
1/4"x6"x6" WASHER PLATES.
SET THROUGH BOLTS IN 1/4"
| | DIA. HOLE WITH HY70
_HSS12X8X1/4_ ADHESWE, 12” GAGE
3/4” — ,I’_O!’

3/4” THICK PLATE
/ o

/

15_45)

,I ,——O”

BASE PLATE TYPE BPT

N

1 1/2" = 1'=0

(E) BUILDING
~~ BASE PLATE ABOVE

e
I |
| |

o fe 7. * , [}

T

XT 1 |

=

A

~ @ ® [J ®

yi

(3)—#4 U—BAR AND
CROSS TIES @4”0C TOP,

@1270C BALANCE

PILASTER PLAN DETAIL

\ ADHESIVE DOWEL WITH
| 6" MIN EMBEDMENT

3/4” — ,I’_O!’

3/4” — ,I’_O!’

3/8" THICK CAP PLATE

WASHER TO BASE PL., TYP.

5/16)
(3/16)
a /4]
1/4
. — TYP
o Lo 7_/ 1/4]
<t | |
. T@/
: L)
[@Ni L P -
1/4"x4"x12" PLATE
1/4"x4"x12" PLATE WITH
(3)-3/4" DIA. A325 BOLTS
IN HORIZ. SLOTTED HOLES
SECTION
3/47 = 1'=0"

GROUT HOLES IN BASE
PLATE IF REQ'D

SEE DETAILS

1/4

FINISHED SURFACES \

BASE PLATE DETAIL

12\2” GROUT

3/8" THICK PLATE
WASHER, 2-1/2"
MIN. DIA.

1" DIA., GRADE 55
ANCHOR RODS WITH A563
GRADE A NUT

DOUBLE NUT WITH 3/8"

THICK PLATE WASHER; MIN.

SIZE 3X BOLT DIAMETER.

BASE PLATE NOTES:

1. ALL BASE PLATES ARE CENTERED ON GRID
LINES UON.

2. PROVIDE LEVELING NUTS AND SHIM PLATES AS
REQUIRED TO MAINTAIN COLUMN LEVELNESS,

3. MATCH SURFACE PREPARATION AND FINISH OF
BEARING PLATE, ANCHOR RODS, WASHERS,
AND PLATE WASHERS TO THAT OF COLUMNS.
4. WASHER PLATES SHALL BE A36.

BOLT LOCATIONS VARY. SEE BASE PLATE
DETAILS FOR LOCATIONS.

6. SET ANCHOR RODS WITH TEMPLATE.

n
I_
QO
LI
=
i
O
%
<
N
N
)
%
%
Ll
o
W
LLI
I
=
O
i
<
=

308 Congress Street | Boston, MA 02210 | 617.482.3232 | www.mp-architects.com

Design for the way you work.

o
L o
5 20 .
O ¥
b O ZZ ~
s =0 < g
o | w i
o X = LI < = w <
2 = =
= Qo =248 2
I—
= 00X G S T2 g
8 SwOw 2wz g
s pZ2<y 090<g <
;n:o = zZz<L<= <
) <x SwIeL
<Owra =2Zxasd s
)
N
H+ Ll o
- = o
— ™
048 0 £%
E 5 Z2 Zy
<zg S Wz
», 003 > Bzg
zZ Quz 2 £08
O mzonr~ O Wngo
T LIEY OLzs3
5 <%82 9ZEZT
LI Z223 z WsEs
O S EQIsq
288y 0548y
» Y S o S ;pNmDo
=
S«
O
e S
Z 1 5 08
Q 2 < Zw
Z8 2% 5 =5
Z oy 237
Z2g 9 Tpg o Xeqy
g ONGS A X wo <—|DO
UWZ2dqag wxOgy 2<x«g
o Wezg o E=w Z g2
x _-O < Z .o L Tl Ne
z Tuzg O0SO0ZJ 0O >0Z
00508 23508 LL68
S PE5E? 20852 0 J25%
> EOQRN N~ o 0 R~
5>al8 <E523F & $833
Y ]
LLl
= o 28
ok Z £“E
Z 28 i N‘:’>’
S Wz  =ao 5o
L
S O8x 250, £ URa
5 Eu¥ 3028 z33%
e _Igo ZED:S ODEO
z 2 R=<< O fuqg Zoug
— w LD = U—IEE - E>o
z WZ2a3_8 02y 59
z nz H N L 205
S 5032568 2 mie8 30z22°
=) gOE'—&n ao<o P HOLs
2 4225 B3028 8253
0 BTIXS Z<ozxg E=2%d
O S ZFIUR T OasSR B mpI3s~
REVISIONS
NUMBER DESCRIPTION DATE
STAMP

1/21) — 11_031

KEY PLAN
DATE.....ccoiiiieeeeeee, 10/19/15
SCALE......ooiiiiiiie As indicated
DRAWN BY.......ccccvvnnene Author

PROJECT NUMBER..... SAR15A.00
DRAWING TITLE

SECTIONS & DETAILS

7S-200

DRAWING NUMBER




